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PART - A
SPOTTING ERRORS

Directions for the following 10 (ten) items :

Each question in this section has a sentence with three underlined pans labelled (a), (b)
and (c). Read each sentence to find out whether there is any error in any underlined part
and indicate your response in the Answer Sheet against the corresponding letter i.e., (a) or
(b} or (c). If you find no error, your response should be indicated as (d),

1. My friend was  habilual to drive acar  at very high speed. No error.

(@) (b) (c) (d)
2. Being a day of national mourning  the offices were closed
(a) (b)
and the national flag flew half mast.  Noermror,
{c) ' 0

3. Ifyou are wanting to watchy

(a)

;Inng time. Mo error.

(d)

4. He does not histen to  [wha
{a)

5. Itis most essential for us
(a)

No error.

(d)

6. I asked him what had brought I 0%
(@) (b) {c) (d)
1. The guards darenot  to harm him. No error.
(a) (b}, () (d)
g, The Principal lnoks very worried
(a)
because students are on strike for the last fifteen days as a protest against
(b} .
his disciplinary action against some miscreants.  No error.
(c) (d)
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9, Theking was embarrassed  to find evidences  against his own queen.  No error.

(a) (b) (&) (d)

o, /sl prefer coffec thantea  my friends always take the trouble

(a) (b)
to get me a cup of coffee whenever [ visit them. No error.
() (d)

SYNONYMS

Directions for the following 5 (five) items :

11.

12. House rent in cities like Mumbai or .

Each item in this section consists of a sentence with an underlined word or words followed
by four words or groups of words. Select the word or groups of words that is most similar
in meaning to the underlined W-Drd 0

(b} Generosity ;-,.
(c) Cleanliness in hogpi
{(d) Kindness

(b) concerned with

Delhi has risen to astronomical figures (¢) obsessed with
beyond the reach of even high-salaried .
Al (d) imbued with

15. Some journalists arc guilty of indulging

() b in yellow journalism.

(b) commercial (@) misrepresentation
(b} wvulgarization

) Bl (c) sensational reporting

(d) illogical (d) loud gestures
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ANTONYMS

Directions for ﬂlr.el' Jollowing 5 (five) ftems :

Each item in this section consists of a sentence with an underlined word or words followed
by four words or groups of words. Select the word or group of words that is most nearly

16.

17.

18.

21.

22,

opposite in meaning to the underlined word.

The culprit was sentenced by the Court.
(a) acquitted

(b) punished

(¢) relieved

{d) pardoned

Thrifty as he is, he can well afford to
live within his means.

(a)
(b)
(c)
(d)
Do not give him a
immature.

(a) thoughtful

19,

careless
instinctive
sentimental
extravagant

response on the Answer Sheet.

She has been lying in bed for the last
fortnight. | hope she will

(&) come out

(b) pull out

{c) pull through

(d) go out

The path of progress is besel
difficulties.

(a) with

(b) by

{c) through

(d) along

24.

—
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{(b) cautious

(¢} calculating

(d) seasoned

| was prepared to show my hand provided
he agreed to do the same.

(a) to yield

{b) to shake hands

¢ witrds given after the sentence,
bt blank space and indicate your

for those who are cruel

1 feel
to their children.
(a) sympathy
(b) contempt
(¢} admiration
{d) craving

Both the parties were keen to have an
settlement of the dispute.

(a) enviable

(b)

(&)

(d)

mimical
wirthy
amicable



23,

26.

1.

| have come to know that the two 28. The belief in the of vaccina-
brothers have . tion is gaining ground.
(a) fallen through {a) immunity
{(b) fallen out (b) prevalence
(¢) fallen for (c) efficacy
(d) fallen short (d) workability

' ' n wark :
Eﬁrrﬁ:dyl':“dfz:: ut:at :l:hers have ek E;g::ﬁr Egezsﬁf:m* s e SR
delightful jobs.
(a) g:::dinjs @) ity
(b fabulous (b} intoxicated
(¢} unprofitable (c) fanciful
(d) indecent {d:' dyn

: ; T world of - between

:::lﬁ'MI ook P.,I?m Arive shen “he said and what he did,
(a) performance '
(b) disregard

(¢} negligence
(d)- slackness

Each of the following ite utence the parts of which have been
jumbled. These parts have iven below each sentence are four
sequences namely (a), (b), (c) an ed to rearrange the jumbled parts of the

sentence and mark your response ..} Ing :,.r

31. The statement therefore you must listen carefully  what the speaker has said

P 0
in order to understand  will be made just once
14 5

The proper sequence should be
(a) SPRQ
(b) SRQP
() RSPQ
(d) SPOR
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32. The small boy who brokehisleg felldown and  climbed the wall

P Q R S
The proper sequence should be
() PSRQ
(b) SQRP
(c}) QSRP
(d) SPRQ
33. According to an engineer  might hit the market next year
P
a newly developed air -cooler system  that employed in conventional room coolers
Q R
which is based on a principle radically different from

(a) SQRP
() RSQP
) QSRP
(d POQRS

34. The clerk onthe de 3

(8) SRQP
() QRSP
() PQRS
(d) QPSR

35. Hardly had my brother descended from the plane  when the people  waved and cheered
P Q

who had come to receive him  from the lounge
R 5

The proper sequence should be

{a) PORS

(b) RSPQ

{c) RPQS

(d PRSOQ

ADN-S-FST - A 6



36, The essay like that of the human face  because its variety is infinite s a literary form
P Q R
which is not easy to define
S

The proper sequence should be
(a) PQRS
(b) PQSR
fc) RSQP
(d) RSPQ

37. The exhibition committee  attractive and useful 1o make exhibition making efforts
P Q R

has been

The proper sequence st
(&) QSRP
(b)) SRQP
{¢) QPSR
(d) SPQR

Look at the underlined part of each sentenee Delow each semence are given three possible
substitutions for the underlined part. If one of them (a), (b) or (¢) is better than the underlined
part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) or
{c). If none of the substitutions improves the sentence, indicate (d) as your response on the
Answer Sheet. Thus a “No improvement™ response will be signified by the letter (d).

38. My old teacher gave many poor students money in spite of he was poor.
(a) even though
(b) asif

(e} however

(d) NO IMPROVEMENT
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39. You should to read the newspapers regularly if vou want to be well-informed.
(1) ought
(b} have to
(c) should be
(d) NO IMPROVEMENT

40. If he had listening to me he would not have got lost.

(a) listened me
(b} listened to me
(e} listen me

(d) NO IMPROVEMENT

41. He asked for a bank loan plso he didiceshas
(a) because 45
(b) even if
(e) requiring d
(d) NO IMPROVEMERT

42. | went to the shop to
{a) stationery
(b) stationary
() stationaries
(d) NO IMPROVEMEN

43. | have been waiting here for the
{a) from
(b) since
(c) by
(dy NO IMPROVEMENT

Fias

44. The table needs to be painted.
(a) paint
(b) painting
(c) having paint
(d) NO IMPROVEMENT

ADN-S-FST - A 5



45. It began to rain heavily just when | prepare to go out.

(a) prepared

(b) was preparing

(c) have prepared

(d) NO IMPROVEMENT

46, The couple seemed to love one another very much.

47.

. The training programme was exte

(a) every other

(b) each

(e} each other

(d) NO IMPROVEMENT

It is high time that we did something
(a) had done
(b) would do
{c) have done

(8) am capable ofth
(b) could have helpec
(¢) would help

(d) NO IMPROVEMEIY

(a) from
(b} until
{e) since
(d} NO IMPROVEMENT

. The painting which they were looking at was done by my sister,

(a) what

(b) that

(¢} whom

(d) NO IMPROVEMENT

A — ADN-S-FST



PART-B

The following 6 (Six) items consist of two
statements, Statement | and Statement [I
Examine these two statements carcfully and
select the correct answer using the code given
below :

Code :

{2} PBoth the statements are individually
true-and Statcment I is the correct
explanation of Statement 1

{b) Both the statements are individually
true but Statement 11 is wof the
correct explanation of Statement |

{c) Staternent [ s true but
1s false

(d) Statement I is false B :
is true .

51. Stalemment [

Statement I1 ¢

52, Statement | : Ozone is a tri-atomic

molecule of oxygen.

Statement I1 : Ozone 15 concentrated
mainly in stratosphere.

53. Statement [ : The laterite soils develop
in areas with high
temperature and high
ramfall.

Statement [l : Laterite soils are the

result of intense leaching
process.

ADN-S-FST - A
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54, Statement [

Statement [1 :

55, Statement [

Statement 11 :

: Too much salt content in

diet could be one of the
reasons for kidnev failure.

High salt may cause
high blood pressure.

: The city of Rome revived

i & spectacular way in
the 15th century.

From the 15th cemtury
onwards, artists were
own individually by

= i not as member of

a group or a guild, in

£ C hariisn Wﬂsﬂli.‘pﬂﬁl:iml
\ “réform campaign for
| =democratic nghts which

over  Britain

-nid] & The trade union move-

ciated with

ment declined by the
18305 as it failed to fulfil
the aspmations of the
working class.

57. ‘Sahel” region of Sahara desert is asso-

{a) core area of Sahara desert

() southern moving edge of Sahara

desert

{c) northern fringe of Sahara desert
bondering Mediterranean sea

(d) another name of Sahara desert
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58. Which one of the following pairs of a List T List I1

nver and itz tnibutary 1s mof correctly fRiver) (Mouth of the
matched ? river)
(a) Godavan : Wainganga A. Danube 1. North sea
(b) Cauvery :  Bhavani B. Rhine 2, Black sea
(¢) Narmada s e C. Rhone 3. Bay of Biscay
, : D. Loire 4. Mediterranean
(d) Krishna - Bhima s
59, In which one of the following countries, Code :
the Mediterranean type of Biome 18
found 7 A B €D
@ 2 1 4 3
(a) Chile
by 3 e 1 2
&) Keon 2 : 3
(c) Argentina 5
(d) Bolivia

their decreasing populal

the census 2011 : List 1T
e Troess: (Tvpe of changel
: 2 et 1. Chemical
2. Bihar ' :
.{:Q]ir_ag- water 2. Evaporation
.3'. h‘[ﬁhﬂmﬂhh’ﬂ 3. Cﬂﬂdﬂﬂﬂﬂﬂﬂﬂ
4. Andhra Pradesh ” El::i:ng o8 853 4. Sublimation
Select the comect answer using the ]
code given below : [, Formation of
waler vapour at
(a) 2-3~-1-4 room temperature
1 i R S Code
fo) 4 g =a=3 A& B G0
@ 3-1-4-2 N T R PR
L I O S S
61. Match List [ with List IT and select the (c) 2 1 3 4
correct answer using the code given '
Zia 3 S

below the Lists : (d)

ADN-S-FST - A 12
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(a)
(b}
(c)
(d)

3 T 5 R S U

L e = s

ST R < T = R -
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63. Identify the element having zero valency
(a)
(b)
(c)
(d)

Sulphur

Phosphorous

Lead

Radon

64, There are six electrons, six protons and
six neutrons in an atom of an element.
What is the atomic number of the
element 7
{a) 6
(k) 12
(c) 18

(d) 24

4§ gram of Oxygen
42 gram of Nitrogen

(d) 2 gram of Carbon

Combination of one volume of nitrogen
with three volumes of hydrogen produces

(a)  one volume of ammonia
(b) two volumes of ammonia
three volumes of ammonia

(<)

(d) oneand a half volumes of ammonia

ADN-S-FST - A
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67. Consider the following statements about
cactus !

1. The leaves are reduced to spines,
2. The stem does the photosynthesis.

Which of the statements given abowve
15/are comect 7

(a) 1 only

(b) 2 only

~ (d) Excreta of cattle
69. Malarial parasite is a
(&) bacteria

(b) protozoa

(c) virus

(d) fungus
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8. With reference to biodiversity, which of 73. A ball is thrown vertically upward from

the following statements is/are correct ? the ground with a speed of 252 m/s. The
ball will reach the hghest point of its
1. Species richness and high degree of journey in
endemizm are important critenia for
identifying biodiversity hot spots. (a) 514s
2. Species diversity is highest in the by 3578
tropics and decreases down the
poles. {¢) 2:57s8
3. Biodiversity conservation may be (d) 1-29s

in situ as well as ex sifu.
T4, One kilowatt hour is equal to
Select the correct answer using the

code given below : {a) 36 = 10" joule
(a) 1 only ~ o '_“19-5
(b) 2 and 3 only . G 105
c) 1,2and3
(d) 1and3 only waves are propagated
1, the physical quantity/
1. Itis d:fﬁmlttnh]lwscs se the qantities ransiitied is/are

(d) spend a lot of time inside the host's {d) energy, momentum and matter

cells -
T6. Pressure is a scalar quantity because
72. When a ray of ]lght enters a glass slab, {ﬂ} it is the ratio of force to area and both
then force and area are veclors
(a) only the frequency changes (b) it is the ratio of magnitude of force

to area
(b) frequency and velocity change
(¢} it 15 the ratio of component of force
(c) frequency does not change (normal to area) to area

(d) frequency and wavelength change (d) none of the above

ADN-S-FST - A 16



70, 9 Tafm = wodl # Frmfafn wmi g 8
e &/ wE B/ 7
I, wTte wgty 3 == Hut i waiR,
st e F wg A TR &
fom et wwes €
2. s Tafaaar swmsfeaan 7 afteman

et & affe 1 gt =1 S et
2l

3. o e = e = = (W
#tz) o o v (U ) 6O
el 2 |

0

(a) FAA |

(b) Fa=2 dR 3
(e} 1,2 3R 3
() FF9 1 A3

(d) iﬁﬁﬁﬁﬂﬂaﬁﬁmm

faama &
72, 7 =% war o w1 & o (W)
# WAy T 2, o gEht
(a) o gl el @
(b) smEf ok ¥ wgE @
(c) smafa 78l aaa
(d) Frafa ik ain-5ut wm #

17
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(b) 3:57s
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{d) 12953
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77. A person is unable to read a newspaper
without his glasses. He is most probably
suffermg from

(a) myopia

(b) presbyopia
(¢} astigmatism

(d) hypermetropia

78. The free fall acceleration g increascs

as one pmcmds al sea level, from ﬂu.-.

I[I:} Gﬁﬂgﬂ.‘ force
; - ot force

(b)

(d)

than its polar radius by 21 Iuﬁ =

79. Which one of the following statements
15 correct 7

(a) The measurement of mass taken by
a spring weighing balance is correct
at the place where the spring balance
is-calibrated for

The measurement of mass taken by
a spring weighing balance is correct
at all places

(b)

ADN-8-FS5T - A

(¢} The measurement of mass taken
by a spring weighing balance is
correct at the places where the
acceleration due to gravity is same
with the place where the spring
balance is calibrated for

(d) A spring balance cannot be used to

measure mass at any place

80. Which one of the following 15 met a
contact force ?

(a}) Push force

f 'uflnnwmun::tsma
zwvhich 1s able to move freely,
“maves in the direction of

d] acceleration of 1 km/s?

82, Which of the following items is used
in the houschold wirings to prevent
accidental fire 1in case of short circuit 7

{a) [Insulated wire
{(b) Plastic switches

fc) MNon-metallic coatings on conducting
wires

(d) Electric fuse
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83, Which of the following are the features

of the ideology of utilitarianism ?

1. Utihitarians believed that all value
derives from land

2. The most celebrated spokesmen of
ufilitananism were Jeremy Bentham
and John Stuart Mill

3. Uulitarians were advocates of the
idea that India could be rled
through indigenous laws and
customs

4. THilitarians were 3

{a) 1 and 4 only
(b} 2 and 4 only
(c) 1,2 and 4

(d) 2 and 3

. Who among the following mvented the
powerloom that revolutionized the cotton

textile industry 7
(a) Edmund Cartwright
(b) Samuel Crompton

(¢) Richard Arkwright

{d} James Hargreaves

ADN-S-FST - A
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BS. Subsidiary Alliance was a system devised

by

(a) Lord Wellesley
(b} Lord Dalhousie
{e) Lord Canning

{(d) Lord Ripon

86. Consider the following statements :

1. Periplusgia a Greek word meaning
saili nd.

87. Who among the following was defeated by

Saimna Nehwal to win the women'’s title of
the Australian Open Super Senes
Badminton Tournament, 2016 7

{a) SunYu

(b} Carolina Mann

(c) Wang Yihan

(d) SungJi Hyun
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88. Conszider the following statements : 91. Which of the following statements
concerning Mediterranean climatic region
He was an Indian journalist, editor and

; ;.
atethor. He was associated with the ol 5

Statesman, the Guardian, the Times of I. It is found in the latitude range
India ete. He received the Ramnath 30° to 45° northern and southern
Goenka Lifetime Achievement Award in hemisphere

2013, He died in June 2016, Ll | B i
: 2. Mediterranean chmate experiences
The person teferred to above is extreme temperature conditions

3. In Mediterranean climate, rainfall
occurs mainly  during  summer
SeAS0N

(a) B K Karanjia

(b)) K M Mathew .
4. In Mediterranean climate, rainfall is
I to Westerlies

(c) Inder Malhotra
answer using the

(2) sports administidto
(b) wildlife photogrip
(c) mobile mem.repersalyﬁ] \ : ‘ ’-s'ir total area under forest

(d) bureaucrat

90. Recently Microsoft announced its 26-2 = SHUREa
billion dollar acquisition of which one of 3. Arunachal Pradesh
the following fessional networking
sites 7 = 4. Madhya Pradesh
Select the correct answer uwsing the
(a) Parmerlp code given below
(b) PerfectBusiness @) 4=3-2-1
by 4=2-3-1
(c) StartupNation e L
{d}) Linkedln d) 2-1-3-4
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88. frmfafam wamt o fmm Fifm

q UF WA TAEE, €UEE UH AU
F | ¥ 3 wEwAT, T MIEGA, T IR AR
i ganfe # W w0 4 | TEW 2013F
TAATE AR AICHSTEA AT
AavE T fa a | IRt Be 9 2016

Ht |
Ioden =k & AW TR 7

(a) &t F

00, 71 # ¥ srgte 3 Feafafes st
At wmam A # o v & 26-2 b
Zhew # wittrmm 6 & & A E Y

(a) ORI
(b) Tl
(¢) T
(d) fowgm

91, WHENETEE FAeEAEE ey ¥ owaw #
Frfafm s Ad almaadt & 7

|. 9% I @91 SHEv i 7 S
T 30° 1 45° H T 9 B

2. YHETHWRA e # S A e
Bl &

i, YHEEEEE wEa #, 99 qEE:
e 7 & d wre &

4. YHLIAPRG W #, o qeE:
qgAT TATAT & HREW AT E

ik ﬁﬁw‘amnﬁ#ﬂr{ﬂﬁm

2. Sy
k! AU TET
4, HE WAW

e ol nd gz W v wR wE I
A .

() 4-3-2-1

B #=2=3=1

&)y 3—4—1-12

@) 2-1-=3—4
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93, Which of the following statements Code :
concemning Scheduled Castes (SC)

population in India are correct ? A B C D
. The highest percentage of SC St l 2
population out of the total population e s S LS
of the state 1s found in Punjab
c) 3 TN gl T2
2. Bihar 15 the second largest state in .
respect of total SC population in India o L R S
3, Uttar Pradesh has the highest number 95. Which one of the following species 15
of 3C population in India nof capable of showing dispropor-
tionation reaction 7

4. Among the Indian states, the lowest
percentage of SC pnpulah::m uut ol

mdﬂgwmhaiuw
(a) 1, 2and3
(b) 1 and 3 only
(c) 2 and 4 only

(d) 1,2and4

94, Match List | with List 1l and select th fu) Both covalent and ionic bonds are
correct answer using the code given non-directional

below the Lists :
97, When one strikes a safety match, the first
List 1 List T step is
(Element) (Highest Valency)

{a) buming of sulfur

- . Fi
B SOl 2 (b} decomposition of potassium chlorate
B Phisahotols 7 Gix into potassium chionide and oxygen
{c) conversion of 2 small amount of red
Cilead o phosphorus into white phosphorus
D. Silver 4. Four (d) burming of glue and starch
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93. ARA A AT Fidt (SC) F e A
wafan fmfafaa wo0t 4 8 917 & ot
%7

| TG E F AAEEA § 8 SC e
a1 ity o 7 st wrar man
#

2. WRA # W SC e & fawm #
fewm gm0 TR S O B

3, W ® SC FEEAT thi Aiewe et
TH MG H

94, T 1T 71 11 & gl Fifsm T i
F A= fou M e W v R R T
EUGE

il g
(7re=) (Frw T
AL TS I W
B. HieHRE 2B
. #m 30
D=zt 4 =W

e
A B € D
(a) 2 4 1 3
b 2 1 4 3
fc) 2 1 4 2
iy 3 4 1 2

97, == F1E Frae feamre £t 951 =1 58
it v wrge #, o v w1 o R d
27

(a) U T AHAT

(b) refirmy wEttE 5 9finm e
wE HfeEtEE # AT

(c) ®TE FERRA 6T F7T YT F T
| FIRRA H TR

(d) W\ (W) T97 T w1
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98. The LPG cooking gas contains propanc 102. Fluonide toothpaste s  sometimes
and butane as the constituents, A sulfur recommended because fluoride
contaming compound is added 1o the LPG,

: (a) prevents plaque formation

(b) hardens the enamel of the tooth
(c) klls pathogenic bactenia
(d) prevents tooth ache

(@) it lowers the cost of production
(b) it enhances the efficiency of LPG

{(c) it facilitates easy detection of leakage

of the gas 103. Along a streamline flow of flus

et ) (a) the velocity of all fluid particles at a
{d) it assists in hiquefying hydrocarbons e Tnstant i GOt

(b) the speed of a fluid particle remains
constant

the

L

99, The genetic material of bacteria is found in

of all fluid particles
given posilion is constant
of a fluid particle remains

produce mule which i :
The infertility is becau
belong to differemt
{a) class
(b) order
15. A particle is executing simple harmonic

(u3 - species motion. Which one of the following
staternents about the acceleration of the

@ g oscillating particle 1s true ?
101. A plant having yellow leaves with dead (R} TEis atwilys in the'oppasits diceclion
spots has the deficiency of to velocity _
_ {(b) Itis proportional to the frequency of
{E} Potassium ns::ill&ﬁun
(b) Magnesium (c} It is minimum when the speed is
MAX LI
Nitrate ]
) {d) It decreases as the potential energy
{d) Phosphate INCreases
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98.

LPG @i 79 3 Wi o oo Foe F w9 102, Ve 99 wee i ad-aet gefe
W E E | LPGH v e A w6 sy 1 e 2, i e
e S (a) T % F A e B

(a) TE IeIEA T FAE FI FH AT B (b) =it 3 v 9 75w

(b) TE LPG & TFa = =70

(c) TR AT H AW §
(¢} =9 0 % Fam =1 F@e & 9 ;

(d) =T % o A IFAr w R

GUIRE R REC DR
(d) TE ETEEEEAT FI G FA A AwEa 103, B ww % i v & aaike
FA G (a) Tt e qor 4 goe T 50
' - N UFEAT B 8
yy.ﬁq;ﬂ;ﬁ?mm@ﬁmmﬁﬁw () T af e =1 Tt @
(a) F5F B il feufa =t wR %@ U
(by Ffirpm 1' _aﬁriﬂﬂmﬂﬂmﬁm!
{c) - : T T A AT T B
(d) T R &1 aiforwr st fohe WK
100, <% 51 e e e <tia 58 o T Ty Az e
i et B\ Y
Pyt 3 2 ae firecer ok S
S Bt & 7 o 2
(a) Fa &) et et @
) " e {ll) ST 1 AT B
(c) wifs _
: 105, F1E T g g wfa B | S O S
£ 5 R & e Tl 3 8 2
101, felt i & et ol wn g g (3= R 7
w1z Frrfafia # & Fen & w0 & Fwm (a) 1% "%E 3m F Fedm B § o
e ©) 7w e AR & wa g
NG (c) wa f sfteew et 8, 7@ E
‘(b) FTTER = 2 2
() A (@ Fa-3E i st wd w2 e
(d) wTERE i e
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106. Which one of the following four particles, 109. Which one of the following statements

whose displacement x and acceleration a, 18 ot correct 7

are related as follows, is executing simple

Rt Bbhes (a) Pitch of & sound is its chasacteristic

(8) a,=+ 3z 1:{3,; which we can g&m:m!lj.r differen-
tiate between a male voice and a

b) a,=+ 37 female voice

S
©) & £ (b) The loudness of sound is related to its

(d) a.=-3x frequency

107. If we plot a h between volume F (c) A musical sound has certain well
" e defined frequencies which are

and inverse of pressure P (ie., —L] for an general ies of a fundamental
ideal gas at constant temperatue”T, the: " W

curve so obtained 15

(a) straight line f __ | '.mlatﬂdtnu:u: waveform of
(b) circle : A

&) pemabnly R 110, Aparticls ¢xetutes linear simple harmonic
(d) hyperbola | motion ifrinplitude of 2 cm. When the

m from the mean position,
s of the velocity and the

108. Which one of the follov e

property of the medium but -. | (a)
inertia property

(b) The speed of sound waves in a
medium depends upon the inertia
property of the medium but not on
elastic property

(c) The speed of sound waves in a
medium depends neither on its elastic (c)
Property nor on its inertia property

{d) The speed of sound waves in a

medium depends both on elastic and (d)
inertia properties of the medium 2m+/3

ey £41

(b)

Al;: NG

—
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1mﬁmﬁﬁaiﬁmﬂﬂﬂaﬁﬁmmﬁm 109. F=fafas # % =91 W v w97 78 784

107,
IR e VAR aE Pl (Wfi‘l .'F

108,

farearam x it = o, #19 fi oo g @ g7

Tafty &, @t amad af s w f 7

e (a) & w1 aE= (=) T899 =%
2 st & Fores g = s

(b) a,=+ 3« UEN T 991 Wl TR F dN 0E a%

(c) a:,=—3.:l.'! 'ﬂﬁ%

) a=-3x (by = & e gEdh A § et

BT @

uﬁﬂﬁ?ﬁmﬂﬂ?%ﬁqmﬁmﬁﬁ"

by Tt wem # ey wt S oof,
WA & wEe e oy fade s
% A fE weme e w

(e) Tereft ez # exfey aaat it ofg = &
T WeTes e A A 6 wEE B
argea e i freft et @ (c) ?3

(d) ot mem # =fF a@n i afa
WA SR W, qA e aE] w |
fofe st 2 @ 23

(b)
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111. Which one of the following statements 1. Peasants were not allowed to sell

is ot comect 7 thear surplus
(a) The longest wavelength of light 4. To secure liquid capital, concessions
visible to human eye is about 700 nm were allowed to foreign capitalists,
' (b} The shortest wavelength of light but th-::‘.imtﬂ retained the option of
visible to human eye is about 400 nm purchasing the products of such
concemns

(¢) The wavelength of gamma rays 1s
longer than that of X-rays Select the correct answer using the

(d) The ability of a telescope to form code given below :
separable images of close objects 15
called its resolving power (a) 1only
{(b) 2and3 .

[12. If the image of an object, formed by 2.

(b) at the centre of cfitva o/ o i fnllumng was/were the

{¢) beyond the centi Feurvanine: seasons [0 the defes of British during the
yf Independence 7

113. When three

total resistance will be ' :
extraordinary military leadership of

(a) 3x George Washington
itk 4, The Amencans had access to
(c) Ox superior arms and ammunition
;i Sglect the comrect answer using the
114. Which of the following was/were the GOtk EvER el
feature{s) of Lemn’s New Economic (4) I, 2andd
Palicy (NEP) for the Soviet Union ? :
I. Private retail trading was strigtly (b) 3 only
forbidden _
(¢} 2and 3 only
2. Privale enterprise was  sinetly
forbidden {d) 1,2and3
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11

112.

113.

114,

foertafis @ @ =17 w1 v Fu9 @ AR

27

(a) wrE A9 H o 92a Wl warw
TAH FE] T9T- 95 @0ET 700 nm #

(b) WA= = =i foETE 92 AT yew
aeEH e TO-5e T 400 nmE

(c) W-ﬁﬂ“ﬁﬁﬂiﬂ_—ﬁs X- fezomt iy
Fo-oed & afys 2

x 2 Wﬁﬂﬁ?ﬂ#uﬁﬁqhmﬁ'
T el ST e WS Een 7
{a) 2x
(b) 3Imx
(¢) Sx
(& 3x
Trfefas & & =9 m/8 gy aa &
Teru wifem &t = anfefs il (vEp) =1 /%
sy ar /4 7
1. st g = o e At @
2. Tt 3em ot aew afla @

kh |

3, At # T st @ A
gl o

4 w@ 4 6 owie F foo, R
ot = fard @ A, W
T A U8 whvemt & Seet w eied
w1 e s ora T @

A 1 W g @ wn w wd o

A ol T gz W oW w wE I
e

(a) 1,2 ¥ 4

(b) W 3

(¢) A 2 3K 3

{d 1,23R3

A - ADN-S-FST



116. The industrial revolution in England Which of the statements given above is/are

had a profound impact on the lives of correct 7

people. Which of the following statements

are correct about that ? {a) 1only
1. Women were the main workers in the (&) %oy

industries :
' (d) Neither 1 nor 2
2, Factory managers were well aware

of the health risks of industrial work 140 w0 smong the following was the author
oty children of Neel Darpan, published in 1860 7
3. Children were often employed in {a) Reverend James Long

Select the cormrect
code given below :

(a) | and 3 only

(b) land2
(¢} 1,3 and4
{d) Satyashedhak Samaj
(d) 3and 4 only .
120. Although used earlier by French and
y : German writers, the term ‘Industrial
117. Consider the followmg statements - Revolution” in English was first w
by
1. British colonialism continued to ")
grow steadily in the 18th and 19th {a) Adam Smith
centuries
{b) Amold Toynbee
2. Raw cotton for the textile mdusiry (c) James Mil
in Britain during the industrial
revolution needed o be imported {d) Bertrand Russell
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116, etz 7 sl st o1 w5 & st TR A A T WM/ R AR R/ 7
TR VAT W51 | 3 =i # et A #

T T A R 7 (8) T 1
(b) &= 2
. igM, w8 TAm AN gar s |
wiea i@ Frmw o (c) 1 st 2 S
Iﬁ“mﬁzﬁm%ﬁm (@ T @ 1,7 &2
ﬂ;:;ﬁﬂazﬁ.wm@ 118. 1860 7 wefirm, ‘Hfe =dw’ =1 @F
i Pt 43 4 2
3. 9" T gE FREE ¥ WY #0 9 (a) e S i
ST ST A7 .
Wﬁ
S A e T T Wi O
i g ' -
1 / 3
T i A 1 U AT e Ay ?
(a) Faer 1 33
(b) 1 @z 2
e} 1,334 .
" HeONTHE gHTA
(d) Fa=3 4
120. T Wit st i el g s
117. Fpafifaa wai : Rt s = i v e e
' i A s o SR
I fafen eofEvam sweredt Wk =T I 7
FAwEET yaTE o et oy & Few () e R
AT A @
(h) T Ziaw
2. fwim 7 stenifies w1l & g s
e () FE=ET
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121. In the [19th century, the majority of the {a) Five years
workers in Japan’s modemn industries

were mainly (b) Four years
{(a) Japanese men and children (¢) Three years
(b) Japanese women and Chinese men (@) Two years
(c) women

124. Which of the following statements aboul

(d) Japanese and Chinese men Krishi Kalyan Cess (KKC) is/are comect 7

. ! 1. KKC is calculated in the same way
122. Which of the following statements as Service Tax is caleulated.

regarding recent developments in inter-
national affairs is‘are correct 7

boost support for
cmmrehmsh‘: Bl .
which will help it st

tion of dwelling W
settlers in a Palestim

Select the comrect answer Y

code given below :
. (d) 1onl

(a) 1only :'r

(b} Zonly 125. Which country won the Thomas Cup
Badminton Championship, 2016 ?

(c} Bothland2
(a) Indonesia

(d) Neither | nor 2
(b) Denmark

123. As per the RBI guidelines, which one of :

the following is the minimum tenure of () Cna

Masala Bonds that an Indian company can :

issue offshore 7 (d) Malaysia
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121, At st # A9 & S samm 8
AftERTY FEEE N g 7
(a) WA GET ST A"
(b) AT FhEET st S TE
(c) ity
(dy ST S WA gER

122, sty A | o & g & g
# el et # @ 29 T8 a8

#/% 1

1. NATO F 78T w41, Fﬁﬂmiﬁnﬁ

Fem 99w & Wy, O
W‘m’"‘rﬁmﬁﬁm T

(b) a2
(c) 1 3k 2 gW

@ 7 a 1,7 &2
123, RBI % apfgsl frge & sgaw, =56
att &1, Bt w1 W @t awee |
ST = Al 2, e sty Pl |
B3l s B 7

-------------

{a) orE =g
(b) =AY
(c) I ad
(dy = ad

124. I Femmr Swew (KKC) % &w
Frfafea w991 § & 95 @/ o
B/R7

|. KKC 34 o Ti=fera foman o 2
fom won affs 2w of=fm e

125, #iss 9 S=trea dfug=fim, 2016 fea
E I B i
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126. Match List T with List II and select the 128. Which one of the following sectors 1s

correct answer using the code given below the largest contributor to carbon dioxide
the Lists : emissions from fuel consumption in India ?
List 1 List I i e
fUltra mega fStare) (@) 3 i '
power project af
different stages (b} Transport
of developmeni) :
: (c) Manufacturing industries and con-
A, Sasan 1. Gujarat i
B. Mundra 2. Madhya Pradesh
(d) Others
. Tilaiya 3. Andhra Pradesh
ishnapa w8 emmﬂll, which one of the
W AR g States has the highest number of
Jpes 7
Code : :
A B <
&) 2. 4 I
il VY T
1] 1 4
@ 3 | b
: 130. The property of electric current which is
127. The world's largest biomass t:u-_uimtn-\r: HPF! icable in the fuse wire is
system for cooking in community kitchen
has been installed at
(a) echemical effect of current
{a) Tirupati
(b) magnetic effect of current
{b) Amritsar f
(¢) Shirdi (¢) heating effect of current
(dy Udupi (d} optical property of current
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126 et I et 1 A pfea fifmamafmt 128, Feaffies st 8 8 o moos, s a

1311

F % fon oo =7 Wi A W o o G § FEe TRt e
Eﬁq: wH AL AT & 7
T e Il st T e
(Ferrrer & fafirs (Trea) & R
O T EET A .
TER Weee) i
L | g (c) Tafrmio zam Far Fefo-ae
B. W&l
C. feremn
D. FwHgH
L -
A B
fa) 2 4
b 3 4
fc) 2 1
@ 3 1

ATl W # wEhear & o fe & 130, I AR 3 e vy o1 ¥ 61 v s

T ST S ONe e WA £ TR 7
TR

(a) HHI H TEEAS WA
(a) Fereafy

) YT 1 =T WEE
(b) AL &
(c) farcét (c) © = 9199 WHE
(d) Jgf (d) e = W e
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131. Which one of the following stalements 134. Emulsion 15 known as a
is mot correct 7 . : -
Y 3 (a) colloidal solution of substances having

(a) The SI unit of charge is ampere- different physical states
#ekond (b} true solution
(5) Debipsfs the unit o diptic miateit (c) distillation mixture for making

(c) Resistivity of a wire of length / and kAl

area of cross-section a depends (d) eolloidal solution of two liguids
upon both [ and a
135. If one mixes up ashes with animal fat, the

d kinetic energy of an electron of
& e e substance received in the erude form 1s

mass m kg and charge ¢ coulomb,

when accelerated through a poten- called
tial difference of F volt, is e} joule (a) Ph iog
132. Two balls, A4 and B, are thrown sl pla)_ Soap G
taneously, A vertically upward wath 2 A 1 O

same speed and along s
motion. At what pointsid
collide by taking acceleratian o

as 98 m/s7 5 1€ correct ?
() The balls will co de 3 .waf. mtﬂnfta:-;d]w ; s in
height of 30-2 m A ndfa is quite high an it is
per cent in Gujarat
(b) The balls will collid o ol
height of 20:1 m from ¢ _]mm muthamimdh i

(¢) The balls will collide &
height of 15-1 m from the ground
3, The penctration of Aadhar cards has

(d) The balls will collide after 5s at a R R I part ot

height of 20 m from the ground India and it is the lowest in Assam
and Meghalaya
133. The setting time of cement is lowered by -
adting Select the correct answer using the
code given below :
{a) oxides of alumimium (a) Zonly
(b) gypsum (b) 1 and 3 anly
(c) oxides of magnesium {(¢) 2 and 3 only
(d) silica . (d) 1,2and3
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132.

133.

trafafs =0 & @ ¥9 o vs ow

L A

(a) s Fr S TFTE DT @

() FET faga avepf oy wd 2

() mﬁfaﬂ{mqﬁﬁmﬁ
® TF A% i whREE [l g ot
w7 fdt Bt 2

() iﬂﬂﬁmkgﬁmﬂeﬁ&ﬂ"ﬂﬂ;
fort g 6t ofew s, @@ ¥
W, el S B R

A 4 A B w4 R

20 m/s 1 e # FeAfr I
B F 40m 1 F=rd § e
wAT i # war A i
|y w2 e,
9-8 m/s! A BT, i
TEREIT 7

Hﬁ‘aaamaﬁ

(b} % ®EH & 20-1 m "':..___Jl FrEi E

=G

i‘ﬁaﬁ;{wﬁ
(d) % i & 20 mFt I 9t 56 F A
TR
Hhie & Argga @R w1 9 T o e
s g 7

(a) Umlafe = i
(b) T -

(¢) Pitfimm = wisomee
(d) Farfem

134. Sy =1 TR &9 # =T W R 2

(@) Pl sifrm srensit vl
FwTeE! e

(by FrEafEs e

135, afi % 77 51 7y w4 F wa frer A A

FTFC E H FTH FE 1 FEArT 2 7
{a) WRMEM

3. T & -l w A SR W
A =g T4 T 8 A SE e
g o as feag £

A A g w o w o I
g

(a) =AF 2

(b) e 1 ER 3

(c) Fa%2 3R 3

(d 1,233

A — ADN-S-FST



137. Which one of the following is the correct 2. Isotherms are parallel to latitude n
descending order of countries in terms of Southern Hemisphere in oceans
per capita availability of arable land 7 '
3. Minimum temperature during winter
(a) India ~ China ~ Brazil is recorded in Northem Canada

(b) China — Brazil - India Select the correct answer using the

(c) Brazil - Chira — India code given below :
(d) Brazil - India — China (a) 1and2only
: (b) 1and3 only
138. Match List T with List 1f and select the
correct answer using the code given below (¢) 1,2and3
the Lists : i
List 1 St Wz ol 0
(Geamorphic Eétiure) b & { |
Agent) hich 6T %he following statement(s)
regions of the world
A, Ground water :

B. Running water

C. Glacier
D. Wind pean climatic regions have
' bzt
Code : 4
- Equatorial climatic regions have high
A B & D TicE TRt thmnpﬂ'mﬂlhﬂﬂ

k) l . 3 4. Mediterranean climatic regions

@ 3 2 i 4 practice plantation farming
fey 3 1 2 4 Select the comect answer using the
code given below :
dy 4 2 1 3
{a) 1and 2 only
139, Which of the following statements
concerning temperature is/are correct 7 ) I,2and3
. In winter season Isotherms in (¢) 2and4
Northern Hemisphere are more or
less circular on continents id) 1only
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137. Tefafaa & & = m uw, vy =fs Fh- 2. gfvit e * wEwOR § AR

A wifa i FuemTE % wEw o St TE T & T gt
R AT HF B 2 :
3. ST i W Feerem s Iee) W
(a) WA — S Al # oot T s 2
(b) 7 — BT — e A o T g W owOm wR wE I
(c) W — S - W qf
(d) TR — HWA =1 (a) FA7 1 32
138, 1 190 g 11 3 spivfera <hifoe affe gt i T
F i fou I w7 & wa W= A () 1,2 3 3
i - ; — Wo
(%-smfos | - TR A & | wEiE, Pt
afirTe) hE e wE R R 2
A. i3 wault 3
B. WaTR! Wd
C.fr #i7 e waw a3 w
D. 95A i
AT WeWl # WA
et : % 39 T 2
Al RN e D
4. WEAHT AT #E A Lo
A 4 1 2 3 i &7 war 8
3
) s 3 % T e W v R s
(e} 3 1 ) 4 ‘g’ﬁrq:
d
e fa (a) AW 1 i 2
139, are @ wafam, Feefefas & @ =9
/8w w8/ i
1. sfiet =65 # 9941 =G § wEe tE a4
HRTGRIM] T2 S e w8 (d). a4 1
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141, Which one of the following gases gives 145. Consider the following statements about

acidic solution on dissolving in water 7 the Constitution of India :
(a) Hydrogen 1. A Member of Parliament enjoys
Lo freedom of speech in the Parliament
(b) Carbondioxide as a Parliamentary Privilege pro-
. tected by the Constitution of India.
{c¢) Nitrogen
2. The Constitotion has vested the
(d) Oxygen power to amend the Constitution in
the Parliament.
142. How many moles of hydrogen atom are
present in one mole of Aluminium Which of the statements given above
hydroxide 7 isiare correct 7
(a) Onemole ’ © aj, mhe
() Two moles | )
(c) Three moles
(d) Fourmoles

(¢) International Day of Yoga . " india, the total number of members of

the Council of Ministers c¢annot
{d) International Day against Drug Abuse exceed 20% of the total number of
and Dlicit Trafficking Members of the House of the People

144, Who are Bhawana Kanth, Avani (b} The rank of the different Ministers 18

Chaturvedi and Mohana Singh ? determined by the President

(a) Sprinters (¢) The Ministers are appointed by the
President on the advice of the Prime

(b) Rock climbers Minister

{c) Fighter pilots (d) Only a member of either House of
Parliament can be appointed a5 a

(d) Mountaineers Minister
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147, Which ene of the following statements 149. The cylindrical stone seals were used in

about Money Bill is correct ? which civilization 7
(a) A Bill shall be deemed to be a (a) Haruppan
Money Bill only if it provides for B
impasition of fines or penalties (b} Egygtim
; (c) Roman
(b) A Money Bill shall be mtroduced m
the Rajya Sabha (d) Mesopotamian
¢} The Rajya Sabha can reject the
S ean s 150. Which of the following statements
' with regards to the Civil Disobedience
movement is/are correct 7

(d} The Speaker of the Lok Sabha finally
decides if it is a Money Bill, shouid

- p@ycment received massive
mg¢ from business groups and

148. Which one ui‘ the folle

| g X The _g;w ement was marked by the
{E:I Thﬂ]]ﬂ'ﬁ'ﬂl'ﬂf e : : 4 e mpimun of IE.W}"ETE and

(b) The power to Walloc

(¢) The power to summon the Mgl

{c) 2and3 only

(d) The power to transfer a Minister
from one Department to another (d) 1,2and3
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Examination: NDA - Il - 2016

Series: |A Subject {GAT

Max. marks 600|No of items dropped:: | NIL
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1 B |16 | A | 31 Al46| C | 61 A |76 C | 91 B:|106| D | 121] C |(136| C
2 A | 17 D132 B |[47 ]| D62} A 77| B.| 92 | A |107| A [ 122| C (137| D
3 A |18 | D 33| C |48 C {63 | D (78] C [93] B[108] D | 123 Cc [138] A
4. C|19] Cc | 34| D] 49 D ]164| A[79]| C |9 | B |109] B | 124 B |139] A
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6 D | 21 C |36 | C | 51 B. | 66.f Bl 81 B, 9% ] A|111| C | 126/ C |141| B
7 Cl22| A |37 B |52})B[67.]C 82 ( b |97 | Cc [112| D | 127] ¢ [142] C
8 B | 23 B |[38| A|53| A (68| B. |83 | B|98| C (13| c [ 128] A [143] C
9 C|24[ D |39 B|[5 | A[69| B |8 | A |9 | B |114| D | 129] A |144| C
10 A | 25 B | 40 B | 55| B |70)| C [8 | A|[100| C |[115| D | 130] C |145| C
11 B |l 26| A | # A |56 | A |71 D |8 | A [101] A [116| C | 131] C |146| C
12 A 127| C |42 | A |57 B|72| C |[87| A [102] B [117]| ¢ | 132| ¢ [147] D
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